T
i

NN
1

-
\"_L_!I

) D
(ara
L

1.625

Y

: \_
- 1,688 —> ~ 2,141 ——— TEXTURED FLUSH OR

~—— 2.063 ﬁ% ﬁﬁ RECESSED SMOOTH ¥ 0.030

BATTERIES NOT INCLUDED

=
N\

1y

BATTERIES NOT INCLUDED

VM-24BOOT:

VM-24B-PCB OPTIONAL, SILICONE

(REF.) ?/RI\E\IEQ)AfB-PCB RUBBER BOOT
VM-24C-PCB 4.625
(REF.) VM-24C-PCB
VM-24M19VMTT
VM-24M2AAMTT 2) (REF.)
oK
VM'24MDMﬁ ? Enclosure Options
OMIT ENCLOSURE COLOR: BLACK
*03 ENCLOSURE COLOR: BONE
T END PANEL: TEXTURED TO MATCH ENCLOSURE
S END PANEL: SMOOTH, UNTEXTURED FOR INFRARED APPLICATIONS
T COVER: TEXTURED FLUSH o J
R COVER: RECESSED SMOOTH
2.850
2AA BASE: ACCEPTS 2X AA BATTERIES AN D —
19V BASE: ACCEPTS ONE 9V BATTERY | | T ? G T e 1 ﬁ:@%
’ 1.5 X .875 X .25 GRAY POLYESTER FOAM WITH 1.000 .770 T — | T
11 FOAM-1*01 - 1 { {
ADHESIVE ON ONE SIDE ‘ h |
10 CNT-9V 9 VOLT BATT'Y STRAP, 6 IN. LEAD - 1 \ ] ¢
9 VM-24BMB19V BASE: ONE 9V BATTERY - 1
8 CNT-AA-SINGLE-F SINGLE (FEMALE) AA BATTERY CONTACT 1 -
7 CNT-AA-DUAL-M/F DUAL MALE / FEMALE AA BATTERY CONTACT 1 - NOTES: - 4X .188 (MTG. BOSSES)
T. PRELIMINARY DRAWING
6 CNT-AA-SINGLE-M SINGLE [MALE) AA B’,A‘TTERY CONTACT ] _ 2. ENCLOSURE INCLUDES 1 BASE, 1 COVER, 1 BATTERY DOOR,
5 SCREWS-HL5/8-BR THREAD FORMING ASS'Y SCREW: 5/8 INCH 4 4 1 END PA(IZ\I(I;L, 4 ch§Ews FOR ENCLOSURE ASS'Y & NICKEL PLATED SHEET 1 OF 1
4 VM-DI BATTERY DOOR 1 1 BATTERY CONTACTS. " |DRWN BY | APP. BY |SCALE: | DATE:
3 VM-24EPT END PANEL: TEXTURED SURFACE 1 1 S BATIERIES NOT INGLUBED T oo ARATELY POLYCASE DF._ | - | 11 j0o0o/og
2 VM-24CMBT COVER: WITH MOUNTING BOSSES, TEXTURED FLUSH 1 1 2 EC%(I:_E)%SSUEEQEA(\:BEFETSB&S? B/;\(T:TIERCI)E,\?E YOUR PERFECT FIT JOB NO: PRODUCT:
. : & - -
] VM-24BMBZAA BASE: TWO AA BATTERIES 1 - 7. MOUNTING BOSSES ACCEPT #4-24 X 1/4" THREAD FORMING Towsmmices uwess |19 SETEID O ON oTO US| _ -
ITEM NO. PART NUMBER DESCRIPTION VM-24M2AAMTT/QTY. | VM-24M19VMTT/QTY. SCREWS FOR A 1/167THK PC BOARD. SCREWS AVAILABLE FROM XXX £.030  [TECTAING A TETFoRAToN ComREs |0 | OMER: SIZE:
BOM Table ' KRR .01 B s we e e boresse | TITLE: PRODUCT DETAIL DRAWING




o 2.066 -
(SCREW TOWERS)
o 2.063 -
(MOUNTING BOSSES) 4X 188 — = =—
4X D090 A o res 100 ? 18
- N ==y
D I 28\ v
C 0! =
)
1.919
1 .Ts
403 j/ /%
065 (BATTERY
COMPARTMENT) ]
647 ~— 100
SECTION A-A
NOTE:

T. PRELIMINARY DRAWING: DIMENSIONS SUBJECT TO CHANGE
2. PC BOSSES TO ACCEPT A #4-24 X 1/4 THREAD FORMING SCREW
USED WITH A 1/16 THICK PCB. (SCREWS AVAILABLE FROM POLYCASE)

2X R.250

TEXTURED RECESS V¥ .010——

=i S I
|
|1 ]
__—mﬁ“
:::f_\‘jh
r—j |
=
c=3 }
B
|
|
: 1,844
I
.
I
.
I
.
I
|
:
|
et
s |
ﬁﬁk 4.625
— |
'y
i s i 1.247
:, __4_‘ H‘
1o J
— \}\
1 il
| il
I I
i | il
bl \‘
| }u
-l
| ——
Ik
2
BATTERY COMPARTMENT
ACCEPTS ONE 9V BATTERY
(NOT INCLUDED) SHEET 1 OF 1
" DRWN BY [APP. BY [SCALE: [DATE:
POLYCASE |8 ™ [,
YOUR PERFECT FIT JOB NO: PRODUCT:
- VM-24BMB19V
TOLERANCES UNLESS 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A. - -
OTHERWISE SPECIFIED: PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088 CUSTOM ER S IZE .
XXX 1030 THIS DRAWING AND THE INFORMATION CONTAINED _ -
X XXX £.015 | 70 6E REPROBUCED, COPIED OR (ED N ANY | B

WAY DETRIMENTAL TO THE INTEREST OF POLYCASE

TITLE:PRODUCT DETAIL DRAWING



2X.15]

220 3.05

1.16

.65
E 2-54
SHEET 1 OF 1

DRWN BY |APP. BY |SCALE: | DATE:
B.B.

POLYCASE |
YOUR PERFECT FIT JOB NO: PRODUCT:
- VM-24-BOOT
N OTES . TOLERANCES UNLESS 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A. -

1. COLORS AVAILABLE: BLACK, BLUE, RED XX 2,120 [T CEAIG Ao T Neom TN Conraes—{CU'S 1 OMER: SIZE:
2. MATERIAL: SILICONE RUBBER WITH PREMIUM SILICONE COATING X XXX £.060 | ot Rerronicks, conto or e oy |2

WAY DETRIMENTAL TO THE INTEREST OF POLYCASE TITLE: PRODUCT DETAIL DRAWING



TEXTURED FLUSH OR

2X R4.652
( 4X R.098

4.625 4.016

4X R.100

Al

)
NP\ AGE——_—

=~
NS

)
==Y  Ri1g8
ALL AROUND

RECESSED SMOOTH V .030

i \’! ’% .100 WALL THICKNESS
AT T 7T

J ’|7 |:1 i ’Tmiﬁﬁ?\\l\}\

.030 R R — i

NOTE:

T. PRELIMINARY DRAWING: DIMENSIONS SUBJECT TO CHANGE

2. MTG. BOSSES TO ACCEPT A #4-24 X 1/4 THREAD FORMING SCREW
USED WITH A 1/16 THICK PCB. (SCREWS AVAILABLE FROM POLYCASE)

4X .188

XXX +.030
X XXX +£.015

THIS DRAWING AND THE INFORMATION CONTAINED
ARE THE PROPERTY OF POLYCASE AND ARE NOT

TO BE REPRODUCED, COPIED OR USED IN ANY
WAY DETRIMENTAL TO THE INTEREST OF POLYCASE

125
403 (
1.625
1.919
4X @ .090
4X 0 .090
158 (MTG. BOSS) 4XD.217 > 063
4X .188 (MTG. BOSS: |.D. DEPTH) (MOUNTING BOSS)
4X .480 (SCREW TOWER) 2066
485 (SCREW TOWER)
SHEET 1 OF 1
" DRWN BY [APP. BY [SCALE: [ DATE:
POL YCASE D.F. BB. | 11  |9/19/06
YOUR PERFECT FIT JOB NO: PRODUCT:
TOLERANGES UNLESS | 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A. : {/M-24C
OTHERWISE SPECIFIED: PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088 CUSTOM ER S IZE

B

TITLE:PRODUCT DETAIL DRAWING



L 1
| = - |

051 1 .0501
?

2530 ———————

2420 ——— 4X R.090

I T ) A
R v

\ 4X R.035

AVAILABLE IN UNTEXTURED, INFRARED PERMISSIVE MATERIAL.

.027 (TYP.)

SHEET 1T OF 1
" [DRWN BY |APP. BY |SCALE: | DATE:
POLYCASE [5r" "8 P [Ea,
YOUR PERFECT FIT JOB NO: PRODUCT:
- VM-24EP
TOLERANCES UNLESS 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A. - -
N OTE : OTHERWISE SPECIFIED: PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088 CUSTOM ER SIZE
T. PRELIMINARY DRAWING: DIMENSIONS SUBJECT TO CHANGE. XXX)%X140310 ARE THE PROFERTY OF FOLYCASE AND ARENOT | - A
KK 2015 | o s e e rovense | TITLE: PRODUCT DETAIL DRAWING




— 2XR.167

1
J

375 2295 2.425

JH

~—— 2.067

~—— 318

R ( .];0.063 @

229 [ —

SHEET 1 OF 1

" DRWN BY [APP. BY [SCALE: [ DATE:
POLYCASE |Tee" ™™ S ik,
YOUR PERFECT FIT JOB NO: PRODUCT:
- VM-D1
TOLERANCES UNLESS 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A. -

. PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088 ;
NOTE OTHERWISE SPECIFIED: CUSTOMER: SIZE:

X XX + 030 THIS DRAWING AND THE INFORMATION CONTAINED

T. PRELIMINARY DRAWING: DIMENSIONS SUBJECT TO CHANGE. | X XXX £.015 |6 6t kerronucto, oD Ok (SED My A

WAY DETRIMENTAL TO THE INTEREST OF POLYCASE TITLE:PRODUCT DETAIL DRAWING




438 1.750 ——=| — 2X R1.925
[ XD 125 END PANEL LOCATION
& :
OX R8.136 & N :
+ / N
! | 2.578
2.547 - 1.777
2.422 1.688 2.063
| |
+ J
) ]
—\ @ Va ;
305
-~ 1.60]
| 708 INCLUDES .03 CLEARANCE FROM
) : BATTERY COMPARTMENT ON BASE
- 0337 — =
-~ 2740 ( 063

NOTES: *
1. PCB SIZES INCLUDE .03 CLEARANCE FROM

INNER WALLS AND SCREW TOWERS WHEN

UTILIZING THE MOUNTING BOSSES FOUND ON

THE VM-24 COVER AND INCLUDES .03

CLEARANCE FROM EITHER THE TWO AA OR

ONE 9V BATTERY COMPARTMENT ON THE VM-

24 BASE.
2. PCBBOSSES WILL ACCEPT A #4 X 1/4 THREAD UNLESS OTHERWISE SPECIFIED: PART NO.
FORMING SCREW. (SCREWS ARE AVAILABLE omeNsos ate N Ncresimnl - \/M-24C2AA-PCB
FROM POLYCAS E) TWO PLACE DECIMAL: +.010 PRODUCT
THREE PLACE DECIMAL: +.005 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A.
- PHA#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0083
PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED INTHIS | CLIENT SIZE TITLE: REV
= e IS e~ Secondary Operafions
ZONE|REV. DESCRIPTION BY [APPRD| DATE | o o or rOL1CASE & PROMIBIED.  DRAWN DMF | 9/5/2008
REVISIONS CAD FILE: VM-24C2AA-PCB CHECKED o 12/31/2999 SCALE: 1:1 @G SHEET 1 OF 1

5 4 3 2 1



OXR.613
1.282 K‘ % 2X R8.13
1.209 1.288 137

— .
1032 — | o ) o+ -
809 — 1/ — 861 -
END PANEL
. . S /LOCATION
O - _ |
809 —— 4 - 1
™ & ) | 861 i
1.032 Pa (f i
1.209 ra 1.288 :
1.282 \ / \ f
4X DI125—" o o~ VW VO 074XR']72
o (@IS NV — ™M
NS~ Qo 9
N AN N — <
> X N N
AN N

NOTES: T

1. PCB SIZES INCLUDE .03 CLEARANCE FROM INNER WALLS AND
SCREW TOWERS WHEN UTILIZING THE MOUNTING BOSSES FOUND
ON THE VM-24 BASE WITH THE TWO AA OR ONE 9V BATTERY
COMPARTMENT.

2. PCB BOSSES WILL ACCEPT A #4 X 1/4 THREAD FORMING
SCREW. (SCREWS ARE AVAILABLE FROM POLYCASE)

TOLERANCES: ANGULAR: +2°

TWO PLACE DECIMAL: +.010 PRODUCT

THREE PLACE DECIMAL: +.005
PROPRIETARY AND CONFIDENTIAL

UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN: INCHES[mm] VM-24BMB2AA-PCB ﬁ

1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 US.A.
PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088

THE INFORMATION CONTAINED INTHIS | CLIENT SIZE TITLE: REV
DRAWING IS THE SOLE PROPERTY OF i
POLYCASE. ANY REPRODUCTION IN PART | ~ A Secondary Qpero‘nons -
REV |ZONE| DESCRIPTION | BY |APPR'D| DATE OR AS A WHOLE WITHOUT THE WRITTEN NAME DATE Drowmg
] PERMISSION OF POLYCASE IS PROHIBITED. DRAWN D.M.F. = 9/20/06 1.
REVISIONS CAD FILE: VM-24BMB2AA-PCB CHECKED - 12/31/2999 SCALE: 111 @G SHEET 1 OF 1

5 4 3 2 1



Infra-red readings for 0.100" thick panel

100.0 _
90 |
80
70
60 |
50 |
%T
40 |
304

20 |

10 4

-1.0 7

T T T T T T T T 1
225.0 300 400 500 600 700 800 900 1000 1100.0
nm




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27

	VM-24BMB19V.PDF
	Sheet1
	Drawing View1
	Section View A-A
	Drawing View7
	Drawing View4
	Drawing View5
	Drawing View6


	VM-24-BOOT.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8


	VM-24C.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5
	Drawing View6


	VM-24EP.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5


	VM-D1.PDF
	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7


	VM-24BMB2AA.PDF
	Sheet1
	Drawing View1
	Section View A-A
	Drawing View7
	Drawing View4
	Drawing View5
	Drawing View6


	VM-24C2AA-PCB.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	VM-24BMB2AA-PCB.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4



